
bkmf % k|of]hgsf nflu ltnf]Qdf gu/kflnsf If]q leq /x]sf k|To]s ;jf/L ;fwgx?sf] ;'lr tof/ u/L b]xfo 

adf]lhd jflif{s s/ lnO{g] 5 . 

qm=; ljj/0f )&%.)&^ sf] ?= 

! l/S;f btf{ ? %).–  gfd;f/L ? !%).– gljs/0f ?=@%.   

@ 6]Dkf], O{=l/S;fsf] btf{ ÷ gljs/0f z'Ns sfo{kflnsfn] lg0f{o u/] adf]lhd x'g]5 .   

# /ftf] Kn]6 ePsf] 6]S6/ 700.00 

$ /ftf] Kn]6 ePsf] 6]S6/ -ef8fdf rnfPsf] kfO{Pdf_ 1000.00 

% sfnf] Kn]6 ePsf] ef8fdf rNg] 6]S6/      1000.00 

^ ldlg 6«s÷ldgL a;            1500.00 

& df]6/;fO{sn÷:s'6/ 100.00 

* /ftf] Kn]6 ePsf] hLk, Eofg, sf/   1500.00 

( /ftf] Kn]6 ePsf] hLk, Eofg, sf/   ef8fdf rnfPsf] kfO{Pdf 2500.00 

!) sfnf] Kn]6 ePsf] hLk, Eofg, sf/ 3000.00 

!! a;, 6«s Joj;flos 3000.00 

!@ a;, 6«s ;]jfd'ns 1000.00 

!# ldgL÷dfO{qmf] a; 1000.00 

!$ g=kf= leqsf af6fx? k|of]u u/L ofq' tyf ljBfyL{x? ;jf/L lnO{ lx8\g] a;x? 2500.00 

!% sfg'g adf]lhd k|s[lt x]/L lnO{g] k6s] b:t'/    

 
s_   lghL tyf ef8fsf a;, 6«s / 6]S6/df  20.00 

 
v_   ldlg j;df  10.00 

 
u_   lghL tyf ef8fsf sf/ 6]Dkf]df  10.00 

 
3_   cGo ;jf/L ;fwgx? 5.00 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


